



namn: _____

Datum: _____ Poäng: _____

$$\left(\frac{1}{3}\right)^2 - \frac{1}{6} =$$

$$\left(\frac{1}{2}\right)^{(-2)} + \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{3}\right)^{(-1)} - \frac{3}{4} =$$

$$\left(-\frac{1}{6}\right)^{(-1)} + \frac{2}{5} =$$

$$\left(\frac{1}{6}\right)^2 + \frac{1}{2} =$$

$$\left(-\frac{3}{5}\right)^{(-2)} + \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{1}{2}\right)^{(-1)} - \frac{3}{5} =$$

$$\left(-\frac{3}{4}\right)^2 - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{4}\right)^2 - \frac{1}{2} =$$

$$\left(-\frac{1}{2}\right)^{(-1)} - \frac{1}{2} =$$

$$\left(-\frac{3}{5}\right)^{(-1)} - \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{3}{4}\right)^2 + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{3}{5}\right)^2 - \frac{1}{4} =$$

$$\left(-\frac{1}{4}\right)^2 - \frac{3}{5} =$$

$$\left(\frac{1}{6}\right)^{(-1)} + \frac{2}{5} =$$

$$\left(\frac{2}{5}\right)^{(-2)} + \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{1}{6}\right)^{(-2)} + \left(-\frac{3}{5}\right) =$$

$$\left(\frac{3}{4}\right)^{(-1)} + \left(-\frac{1}{6}\right) =$$

$$\left(\frac{3}{5}\right)^{(-2)} - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{6}\right)^2 + \left(-\frac{1}{4}\right) =$$



namn: _____

Datum: _____ Poäng: _____

$$\left(\frac{1}{3}\right)^2 - \frac{1}{6} = \left(-\frac{1}{18}\right)$$

$$\left(\frac{1}{2}\right)^{(-2)} + \left(-\frac{3}{4}\right) = \frac{13}{4} = 3\frac{1}{4}$$

$$\left(-\frac{1}{3}\right)^{(-1)} - \frac{3}{4} = \left(-\frac{15}{4}\right) = \left(-3\frac{3}{4}\right)$$

$$\left(-\frac{1}{6}\right)^{(-1)} + \frac{2}{5} = \left(-\frac{28}{5}\right) = \left(-5\frac{3}{5}\right)$$

$$\left(\frac{1}{6}\right)^2 + \frac{1}{2} = \frac{19}{36}$$

$$\left(-\frac{3}{5}\right)^{(-2)} + \left(-\frac{3}{5}\right) = \frac{98}{45} = 2\frac{8}{45}$$

$$\left(-\frac{1}{2}\right)^{(-1)} - \frac{3}{5} = \left(-\frac{13}{5}\right) = \left(-2\frac{3}{5}\right)$$

$$\left(-\frac{3}{4}\right)^2 - \left(-\frac{1}{2}\right) = \frac{17}{16} = 1\frac{1}{16}$$

$$\left(-\frac{1}{4}\right)^2 - \frac{1}{2} = \left(-\frac{7}{16}\right)$$

$$\left(-\frac{1}{2}\right)^{(-1)} - \frac{1}{2} = \left(-\frac{5}{2}\right) = \left(-2\frac{1}{2}\right)$$

$$\left(-\frac{3}{5}\right)^{(-1)} - \left(-\frac{1}{3}\right) = \left(-\frac{4}{3}\right) = \left(-1\frac{1}{3}\right)$$

$$\left(-\frac{3}{4}\right)^2 + \left(-\frac{1}{2}\right) = \frac{1}{16}$$

$$\left(-\frac{3}{5}\right)^2 - \frac{1}{4} = \frac{11}{100}$$

$$\left(-\frac{1}{4}\right)^2 - \frac{3}{5} = \left(-\frac{43}{80}\right)$$

$$\left(\frac{1}{6}\right)^{(-1)} + \frac{2}{5} = \frac{32}{5} = 6\frac{2}{5}$$

$$\left(\frac{2}{5}\right)^{(-2)} + \left(-\frac{1}{6}\right) = \frac{73}{12} = 6\frac{1}{12}$$

$$\left(-\frac{1}{6}\right)^{(-2)} + \left(-\frac{3}{5}\right) = \frac{177}{5} = 35\frac{2}{5}$$

$$\left(\frac{3}{4}\right)^{(-1)} + \left(-\frac{1}{6}\right) = \frac{7}{6} = 1\frac{1}{6}$$

$$\left(\frac{3}{5}\right)^{(-2)} - \left(-\frac{1}{2}\right) = \frac{59}{18} = 3\frac{5}{18}$$

$$\left(\frac{1}{6}\right)^2 + \left(-\frac{1}{4}\right) = \left(-\frac{2}{9}\right)$$